





$$\mathcal{L}' \mathcal{L}' = \begin{cases} \mathcal{L}'^h \mathcal{L}'^h \\ \mathcal{L}'^b \mathcal{L}'^b \end{cases}$$

$$\begin{cases} \mathcal{L}'^h = \mathcal{L}'^h \mathcal{L}'^h = \mathcal{L}'^h \mathcal{L}'^h \\ \mathcal{L}'^b = \mathcal{L}'^b \mathcal{L}'^b = \mathcal{L}'^b \mathcal{L}'^b \end{cases}$$

$$\begin{cases} \mathcal{L}'^h = \mathcal{L}'^h \mathcal{L}'^h \\ \mathcal{L}'^b = \mathcal{L}'^b \mathcal{L}'^b \end{cases}$$

$$\mathcal{L}'^h = \begin{cases} \mathcal{L}'^h \mathcal{L}'^h \\ \mathcal{L}'^b \mathcal{L}'^b \end{cases}$$

$$\begin{cases} \mathcal{L}'^h = \mathcal{L}'^h \mathcal{L}'^h \\ \mathcal{L}'^b = \mathcal{L}'^b \mathcal{L}'^b \end{cases}$$

